A Specify Finish

Product Parts Breakdown

RP70774
Top Connector

RP50002
Hex Screw
M5x0.8

RP70773

RP50187
Hex Screw
M5x0.8

ol

RAR.1900-18057
Shut-o0™ C artridge
RAR.2450-2553 A
Wall Flange

1/2" Female NPT
Connector \
With O-Rings ~ SN\Jo---o /,

RP50187 )
Hex Screw
M5x0.8

RP50187
Hex Screw
M5x0.8

RAR.2450-9851A
Cartridge Bezel

RAR.2450-2352 A
Handle w/ o-rings

v

RP50205
Hex Screw
M3x0.5

RP30289
\ Aerator
@

9/

QFLUSSO

LUXURY PLUMBING FIXTURES

[F.1900
Ver 2.53




